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Indique la
seule case
sur laquelle
la Tour peut
se rendre
sans se faire
capturer.

permet au
Cavalier

d’aller en h8.
Cette
correction est
un exemple, il
existe plusieurs
solutions.

NIVEAU 2
EXERCICE 3

Attention,
le Roi blanc
est en échec.
Trouve une

solution
pour enlever
Iéchec !

NIVEAU 2
EXERCICE 4

Attention,
le Roi blanc
est en échec.
Trouve une

solution
pour enlever
Iéchec !

NIVEAU 3
EXERCICE 5

Une petite
astuce pour
promouvoir

le pion.
Tu as les
Blancs.

NIVEAU 3
EXERCICE 6

Les Noirs
sont tombés
dans un piege
douverture.
Comment
jouer les
Blancs pour
avoir un
avantage
matériel
décisif ?




